7P
= B W K N
25 26 27 28 29
e e e
B B9 B B
AH AH
TSRS
3 4 5 6 7 8 9
e e e e
&g B9 (4F1) B B B B
A A0 A A8
TSRS
10 11 12 13 14 15 16
IR IR R IR
g Bg B B B(F%) | BIFR
A A8 A8 A0 A@
TR
17 18 19 20 21 22 23
IR IR IR R IR
&g B B B B
A A8 A0 A0 A0
TR TR
24 25 26 27 28 29 30
IR IR R
B Bg B & & &
A PN P 7 7
TR
31 GEREED)
3/31(B) £ T 1 5\ PEHFHBOLIF v+ ¥ N — V=D |
BT, BROEAXIENT HERCHDET.
BMERIDEYD. ENBHCOEBCCBNEREN N LET,
A0 (rESED)
s 3/3(8). 3/270K. 3/31(0) ZEMT BTEMNTINET,

ORRAER : 1) -4(8

22(&)-25(8) -27(K) -28(K) - 29(%) -31(8)

% 3k >k % k SADINGZE * * *x x x

SEOKRZBIEHDEEA.
BEE - RBEFRIZEDH. FRIIKRZEDET,

)-5(N)-8(&)-10(B)-11(R)-15(&) - 18(A) -




